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��� ��� ��� ak(k = 1, 2, ..., m) �� ���� ������� ���� ���� ak ∈ [−1, 1]
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� f ��� g �� L2
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< f, g >=
∫ 1

−1
f(x)g(x)dμ(x) +

m∑
k=1

Akf(ak)g(ak), (1)
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S = {f(x) :
∫ 1

−1
|f(x)|dx < ∞, f(ak) (k = 1, 2, ..., m) �����}.

�
� f ∈ S ��� �
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f(x) ∼

∞∑
k=0

ck(f)qk(x), ck(f) =< f, qk > (k = 0, 1, ...).
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ẋ = f(x, u, t); t ∈ [t1, t2]; u(t) ∈ U ∀̇t; (1)

k1(p) � 0; k2(p) = 0; p = (t1, t2, x1, x2); (2)

xi = x(ti), i = 1, 2; (3)

G(x, t) � 0; (4)

J = J(p, u) = k0(p) +
∫ t2

t1

f0(x, u, t)dt → min. (5)
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n � u = (u1, u2, . . . , um) ∈ R

m � �
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n � R

d �
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d1 � R
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k1(p) � 0 � G(x, t) � 0 
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